MHF 4102 - AX. SET THEORY

TEST #2 - Spring 2009
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Define what is ordinal exponentia
cofinality of a limit ordinal A.

Prove that for any ordinals o, B,vy
[You may wuse any results vyou
arithmetic except this one,

we have (af)Y =
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Simplify the following ordinal arithmetic expressions as

far as possible.

(a) 4 + w + ©? (b) (0+2) . (0+3)

Define what A € B means and write
Bernstein Theorem says.
Let Q =

natural numbers. Prove that Q == N.

down

Set of all rational numbers;
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what the Cantor-

and N = Set of all

Give the definitions of the| following cardinal
operations: K+Qp, K.p, K°.

Prove that for any two cardinals x gnd p, we always have
(1) ®K+p = p+x and (ii) x.p = plx.

Define what are continuous and stric
functions from Q to Q. [Here Q = cl
Let A be any set and P(A)=the power
A <4 P(A).

Write down what the Axiom of Choice
Prove in ZF that P(a),
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says.
r set of w, can be
s well-ordered by €.)
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